Problem 2.8

Many years ago a string of Christmas tree lights was manufactured in the form shown in (a).  Today the lights are manufactured as shown in (b).  Is there a good reason for this change?
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Suggested Solution

First of all, one must recognize the fact that a failed lamp becomes an open circuit.  Then:

In (a), one faulty lamp would take out the whole string. There would be no way to identify the faulty lamp.

In (b), if one lamp fails, the others stay lit.  It is easy to identify the faulty lamp.
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